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Note: Figure in the bracket indicate marks.

Q.1  What is Cost accounting? Explain the Advantages and limitations of cost accounting in

detail. (27
OR
Q.1 a) From the following information of Raj Co.Ltd. [12]
Find Out:

1) EOQ, 2) Re-ordering Level, 3) Maximum Level, 4) Minimum Level, 5) Danger
Level, 6) Safety Stock

Bi- monthly consumption 4000 Units

Cost per unit 3.2

Cost of Placing an order 324

Carrying cost _ 20%

Lead Time (Maximum, Average and Minimum) 30-20-10 Days

Daily Consumption (Maximum, Average and Minimum)  45-30-15 Units
Maximum time for emergency period 5 Days

b) What is labour turnover. Explain the causes and remedies for labour turn over. {05]

Q.2 Vadodara Lid. has three production departments and two service departments. The

overhead analysist sheet gives the following overhead costs for March 2021, {18]
Indirect wages %.13,000 Electricity £.20,000
Insurance %.33,000 Rent and Taxes $.50,000
Canteen Expenses %.60,000 Depreciation . 1,65,000
Power <.90,000 Salary of factory Manager . 1,80,000

Contribution toward Employee State Insurance Scheme  ¥.6,500

The following operating information is also available.

Particulars A B C D E
Lighting Points 6 5 4 3 2
Direct wages(T.) 45,000 ¢ 40,000 | 29,000 12,000 4,000
Cost of Machinery(X.) 7,20,000 | 4,80,000 | 3,60,000 12,060 12,000
Horse Powers of Machine 4 6 2 -- -




_ Area occupied(sq.it.) 6,000 | 4000 5,000 3,000 2000
vopottion of time devoied 5 4 3 2 ]
by factory manager
| Me. of Employees 5 6 4 3 2
The Expenses of service departments are apportioned as follows:
Diepariment A B C D B
D 20% 30% 40% - 10%
E 20% 40% 30% 10% -

You are required {o distribute total overhears between departments and then appointed the

expense of service department fo production department on repeated Distribution method.

OR
(.2 Lokesh co. provided following information about its production cost per unit: 118
Material consumed <360
Wages <.200
Faciory overbead 60% of prime cost
Office overhiead expenses 3.80
Seliing and distribution expenses <. 60
Profit and loss as i)er financial accounts
Particulars T Particulars <
To opening stock of finished 1,52,000 | By sales 16,00,000
goods(2000 units}
5,40,000 | By closing stock of finished 70,000
To material expenses goods (100 units})
To Wages SXpenses 3,00,000 | By interest-dividend received 10,000
To factory expenses 2,800,000
To office expenses 1,190,600
To selling expenses 50,000
To preliminaty expenses 28,000
To net profit 2,60,600
o 16,80,000 16,890,000

I cost accounis, materials and wages are charged at actual cost. The opening stock of

finished goods i cost accounts is taken as per the valuation of financial accounts, while

[\c%s



closing stock of finished goods is out of the uniis manufactured during the year.'Prepare a

statement of cost sheet also prepare reconciliation statement.

Q.3  What is management accounting? Explain the scope and functions of management
accounting? | [17]
OR
.3 Bajaj Co. manufactures on standard type of calculators. Tts annual production capacity is
80,000 units. The estimated cost 40% and 60% production capacity is as under:
Particulars 40% . 60% <.
Materials 16,00,000 24,00,000
Direct Wages 9,60,000 14,406,000
Other Direct Expenses 6,40,000 9,60,000
Semi variable Expenses
Factory Expenses 28,00,000 32,00,000
Administrative Expenses 20,80,000 23,20,000
Selling and Distribution Expenses 11,20,000 12,80,000
Total Fixed Expenses 24.,00,000 24,00,000
Profit or loss (4,00,000) 28,00,660

You are required to prepare flexible budget and find out total cost and Profit or losses for

the production at 50%,75%.and 90% capacity along with given 40% and 60% capacity.

Assume that selling Price per unit remain same at all level capacity. (171
Q.4 a) The following is the standard mix of production of product P. [12}
Materials Kgs Price per KG <.
A 10 16
B 6 18
C 4 13

The standard loss is 20% of units introduced. Actual production is 480 Kgs. The actual

consumption and cost of materials used is as under:

Materials Kgs Total Price ¥,
A 320 6400
B 120 1800
C 200 1800

Calcuiate the following variances:
i. Material Cost variance

2. Material Price Variance

3. Material Usage Variance

4. Material Mix Variance

5. Material Yield variance




b) What is CVP analysis? Explain the assumption and chart of CVP analysis, {06}
| OR
Q.4 a) From the following Particular Calculate: {12}
1. P.V Ratio
2. Break Even Sales
3. Margin of Safety
4. Sales required to earn profit of T, 2,25,000
5. Profit when sales are ¥.15,00,000
6. Margin of Safety for a profit of Rs.3,00,000
7. Sales required to earn loss of 3. 75,000
8. Variable Cost
Fixed Cost %.2,25,000
Profit . 1,50,000
Sales . 7,50,000 .
b) Explain advantages and disadvantages of budgetary control. [66]

—
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